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ot eview

1. The owner of a local shoe shop recorded the sizes of the feet of all customers who purchased shoes on a
particular morning. Below is a list of these sizes:

g8 7 8 9 6 5 8 6 9 10 9 5 7 11 8 9 7 7 10 5

1S54
a) Calculate the mean. meam {*’kt) = “2,0
= .77

b) Calculate the median. e dian = 818

c) Calculate the mode. = '—9(’:"17
TMode 1 38 9 = %



2. A cashier at a local discount store recorded the price of each card that was purchased by customers on a
particular day. Following is a relative frequency histogram displaying this data.

Price of Cards

Frequency
S o by W o U B3 @
1 1 1 L i i 1 i

0.50 100 1.50 2.00 250  3.00 3.50  4.00
Price (in dollars)

74+ 3+3

Approximately how many people purchased a card valued between $1.00 and $2.50?
= 13 cards



3. Identify the type of sampling that was used in each instance below.

a)

b)

d)

€)

The Home and School Association wanted to ask parents of students a series of questions. They sent
representatives to all schools in District 16 and directed them to ask every 5" parent that attended
Parent-Teacher Interviews. First, each representative had to randomly select which parent to

approach and then approach every 5™ parent after their initial selection. xc_“)\,r Ste ot ‘C;M\“nptt-:

Mr. LaBerge wanted to know what percentage of the school population completed more than 2 hours
of homework each night. He stood at the entrance of the school and as a student approached the
doors, he drew a number from 1-10 out of a hat. If the number 2 was drawn, the student had to
complete a homework questionnaire. <5;rr, ple Qf:md om Sample

School District 16 wants to know if students support its decision to make the entire district a scent-

free environment. A random sample was selected in such a manner to ensure that a proportional

number of students from each school in the district were selected. l%"'.‘r(\'*.‘ Hed Randem
DoTtnple

Danielle wants to know what percentage of skiers support the mandatory use of helmets. She went

to her local ski hill where she approached individuals and asked them to complete a questionnaire on

. - 4
the subject. (Corwenience Sample

The New York Times wanted to the average height of players in the NBA. The sports editor if the
newspaper randomly selected one of the basketball teams and asked every player on that team to get

| 4
measured.  Clugtered Sample



4. Mr. MacDonald randomly selected eight Physics 112 test scores to examine.

65 69 74 79 83 86 92 96

. 44
a) Calculate themean. X = % *Use appropriate symbol
xX= 80.5

b) Calculate the standard deviation (Be Careful!).
X =80.5

MARKS DIFFERENCE FROM MEAN | SOUARE OF DIFFERENCES
= = e EEE—— =
&5 —15.9 IHO, 2.5
&9 —-1L.8 | %% 25
14 -5 492.95
19 =i D 9=
3 a5 .05
R& 2.5 0. 25
Q2. 115 |132..25
Qe 15.5 DHO. 25
182G SORA

(O, AT



5. The quality controller at a pharmaceutical company finds that the mean number of vitamin pills in a
bottle is 100 with a standard deviation of 1. Assuming a normal distribution,

a) what percent of the bottles contain more than 101 pills?
13.5+ 2.35+0.15 = |G,

b) what percent of the bottles contain between 98 and 102 pills? V i
135+ 34 +3U+13S5=95% /OSSP
« . 235 ; | | iz‘ b
c) what percent of the bottles contain less than 99 pills? d-_-_rj"stl | I | . D\}S‘»
13.5+2.35+0.15 = 16% 97 98 99 100 101 102 103

6. Sketch a normal distribution graph with a population mean of 35 and a population standard deviation of
5 to answer the following:

P
a) What percentage of the data would measure between 25 and 457 /T I
13.5+34+344+13.5=9A59, ‘3 '
b) What percentage of the data would measure between 35 and 407 / L 1+ ,34 'l
34 /s Iss|
¢) What percentage of the data would measure between 30 and 45'?"‘_.0’1 ‘L__“ L

3Iy4+34+13.5= B1.5% 50 25 30 35%4556



. What are the mean and the standard deviation of the sampling distribulion if random samples of size 64

;‘ﬁ;‘ina are selected from a population with p = 475 and o = 24? g = =0 s s B
.l S
Dk le = EX i .
T3 Dist. Voif

8. Aran cm sample of size 64 is to be selected from a populatlon with p = 692 and ¢ = 14. Suppose that
several samples of the same size are repeatedly collected during randomly picked years.

a) What is the population mean?
i ™
H =692 (Given)
b) What is the mean of the sampling distribution? i X = I

Hx=0e92
- on =14
c) What is the standard deviation of the sampling distribution? OJE = ;,:h_: | = =
=14 q' =1.75
N4
d) Suppose one of the samples of 64 were found to have a sample mean of 702, develop a 95 % confidence
interval for this sample and interpret the interval. % == | (. O - (698.57
¥ The method used 1o produce +Hhe \[3¥ { +o
interval Prom 694%.57+0 705.43 7102196 (_[_4__\ \ 105 43
has a 0.95 probability Es% Chav@e) \eH, ] 0.7

of producin (-._5 Q con%de-*nce interval that 702 F 1.9¢ (1.73) /
Will encles& +he population mean(6a). 102 £ 3.43
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